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Which of the following is not true about HIV?

(A) It weakness the immune system

(B) It accelerates the spread of tuberculosis

(C) 1t is caused by a virus

(D) It is spread by mere physical contact
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Biodiversity is important because

(A) We depend on it for food and other items

(B) We enjoy it

(C) We depend on it for medicine

(D) All of these
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Carrying capacity is

(A) The number of individuals environmental carries

(B) The minimum number of individuals that environment can sustain

(C) The maximum number of individuals that environment can sustain
(D) None of these
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